House of Character in Zejtun



Zejtun, South



€475,000

Reference No: 240061007-6738

Total Rooms: 10

Floor Area (m²) : **187**

Bathrooms: 2

Bedrooms: 4

House of Character - For Sale -Zejtun

ZEJTUN - Traditional House of character in the heart of this lovely village. The property is structurally sound and it is being sold as it is. comprises of a welcoming hall separate kitchen living and dining room, with a central courtyard and a bedroom with a walk-in on the ground floor. also, the property comes with a cellar and a well. 3 bedrooms on 1st floor and a bathroom, full roof, and airspace with some renovation this property can make a dream home. call agent for more information

Features

- ✓ Water Utility
- Skirting
- Balcony

Rooms

- Kitchen : 2.2 x 4.74 m (10.43 m2)
- Dining : 3 x 3 m (9 m2)
- Sitting : 3.3 x 3.3 m (10.89 m2)
- Double Bedroom : 5 x 3.5 m (17.5 m2)
- Double Bedroom : 5 x 3.5 m (17.5 m2)
- Double Bedroom : 3 x 3.5 m (10.5 m2)
- Double Bedroom : 5 x 3.5 m (17.5 m2)
- Walk In Wardrobe : 1.5 x 4 m (6 m2)
- Hallway : 2 x 3 m (6 m2)
- Bathroom : 2 x 1.2 m (2.4 m2)
- Bathroom : 2 x 1.2 m (2.4 m2)
- Open Space : 3.6 x 4.6 m (16.56 m2)

Electricity Utility

Court Yard



































RE/MAX Superior - Fgura RE/MAX Superior - Fgura

M: 23910000 E: fgr@remax.com.mt T: 23910000

RE/MAX Superior - Fgura 368,Zabbar Road, Fgura, Malta